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G = 1 118, 548, 410
HEELT = 1 623, 764
BEARRE AT = 1 55,060 | B84 (FLt2) hE 1+ 10 m3
2. 5mATH
BRE LT = 1 568, 704 | MRS T 200 m3
4. omPh Lk
b 190 m3
0 Cabl- EHIRY £5Te) ;
FHIA Ob-27) 190 m3
+1 850, 000m3AT ;
L TE AL 195 m3
A A K 30kg/m3 ;
EFEET = 1 39, 900, 931
Fa T Rh 7K T = 1 872,525 |f&EmBLAK 425 m2
WL K
TA7 7 Ml T X 1 23,139,331 | g (8 - B ) 463 m2
BAEI7yv4T/ RC-40 {1 EVJE 150mm ;
R (HEE - BRI ) 4,730 m2
AR AR A RM-40 £ Y E 150mm ;
g (I - BIF ) 4,620 m2
FAHRLEET 22y (20) &H%EE 50mm 3. OmiH ;
g (I - BIF ) 4,530 m2
FAEBRIEET A2/ (20) AHMEE 50mm 3. Omid ;
7A7 7 MaiE T =X 1 3,613,091 | -JE#AE (BGE - BEHD) 1,190 m2
AR AR A RM-40 £ Y JE 100mm ;
g (I - BIF ) 1, 340 m2
FAEBRIEET A2/ (20) AHMEE 50mm 3. Omid ;
TA7 7 Ml T 2 1 1,535,100 |HJE (BE - BIEER) 425 m2
FABRIEET A2, (13) FHEHEE 51mm 3. Om
it
ZJE (B - BIFED 425 m2
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AR A2 (13) 4H%5/E 40mm 3. Omid ;
7 =AT AT 70 %S T = 1 10, 740, 884 | F:/E 994 m2
)T =ATATIVMEA Y EiEEE A0mm
g (I - BIF ) 994 m2
PRI T A2y (13) 4fi25E 40mm 3. Om#d ;
EEET 2 1 1,225, 821
HeERA TR L BE - 7 AR RE T 2 1 1,225,821 |BEM L omaLE 36 m
IE 0.4m ;
HEKHEEY T = 1 629, 600
AR T = 1 629, 600 | & () IAUNE 40 m
E 30cm & 30cm FERABLT ;
EEEMRER & L 2 1 3, 406, 080
FEHMIR R S T 2 1 3,406, 080 | FSHME R E 23 m3
Q54 A2AHR)
24-12-25(20) (&JF) ;
BEERER & 11 m3
Q2518 A27v77)
24-12-25(20) (&JF) ;
BEERER & 10 m3
BE4E AL LV
24-12-25(20) (&JF) ;
BEERER & 10 m3
351 ALT YV H)
24-12-25(20) G&JF) ;
Bh AT L 2 1 36, 040, 145
vy - N REA T = 1 26, 734, 849 | 7" VA MNAIPER, A 457 m
H=1000 ;
SRR M T = 1 5,487,000 | #EELE; AT 1 (&30
18-8-40 (&) Wizt L=11m/fEHT ;
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5 R A A L 2 1 3,818,296 | JLEkT 30 m3

)T 7740~0 BJE 0.5m ;

BLay)-h 6 m2
18-8-40 (B JF) = 10c m ;

VIR 44 m3
24-12-25(20) (&¥F) ;

Tl e 1 =X
— e

i53i0) 1.53 t
SD345 D13 ;

i53i0) 1.08 t
SD345 D16~25 ;

SRR = 24 &0
D200 L=0. 4m ;

H HihR 4 m2
T W B i =20 ;

H HihR 14 m2
FHE " 07" U-h (FEEE60 K4Ra" L) JE10mm ;

H HihR 17 m2
$EE#4 (EPS) 50050 ;

HEAT B MR T = 1 18, 674, 037
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TEXSy - TH - fER B {7 A iR
r=7" VB L = A AL 668 m

FEP £ 50mm ;

A AL 790 m
HBRBIEZLE 650X 21 ;

A VRYA 112 1
FEPAH 50mm ;

44 32 1A
FEPAH 50mm ;

FLFEE T 4 HH
FEP50 X G54 ;

=P NN 8 m
JEEHEARE 2 28mm ;

EAMELE 267 m
JESHEARE 2 S4mm ;

=P NN 2 m
LlEBinl L 5 EHRE £ 30mm ;

EAMELE 33 m
AJEBe] L S ERE £ 50mm ;

J—p" 410 m
¢ 6mm ;

J-bHR 1, 347 m
¢ 4mm ;

PR AT ey — MR 183 m
300mm X 50m 2% ;

I 3 & AT
(HH-3)
900X 900X 900 (R2K-60) ;

I 8 & AT
(HH-B)
1200 X 1200 X 1200 T-25 ;

I 1 & AT
(HH-C)
1200 X 600 X 250 T-25 ;
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(PB-1)

500X 500X 200 ;
7R I AR E

(PB-2)

400X 400X 200 ;
7R I AR E

(PB-3)

300X 300X200 ;
7R 9 IARR E

(PB-4)

700X 500X 200 ;
7R 9 IARR E

(PB-5)

700X 600X 200 ;
7R 9 IARR E

(PB-6)

800X 600X 200 ;
7R 9 IARR E

(PB-T7)

500X 500 X 250 ;
7R 9 IARR E

(PB-B)

750X 750 X 250 ;
77 VE 9 IARR E

(PB-E)

750 X750 X350 ;

TEGEAT Jm A 1

17, 278, 032

& T

17, 278, 032

- 27 WA 2 1

(251A2)

WERHE 100mn ;
B - 27 WAL

(BFHEAL

ﬁ%ﬁﬂﬁ% 100mm

18.3 m

TAZIEE LN )R




PR AR E

T
P

T=E4 | BG4 9 7 5w X eE T

TEHX4y « Tfd - FER B Az W B & HH i il R
B - 27 WAL 11.4 m
(3518A2)
WERHE 100mn ;
B - 27 WAL 11.5 m
(4 5FGAL)
WERE 150mn ;
A Y 1 770, 000
AEEHE T Y 1 770, 000 | AZ @k B 421w B 1 =
[ERAE Xy = 1 118, 548, 410
HiE 2 2 1 12, 434, 800
Hom it = 1 1, 184, 800
Bl s gy 2 1 58,800 | JHE I Hik FaAT —4ERE: 1 2V
BGRESGESE (5 L) = 1 1, 126, 000
B (FEHL) = 1 11, 250, 000
T = 1 130, 983, 210
Bl gy 2 1 34, 094, 000
T =5l = 1 165, 077, 210
— R A 2 1 26, 492, 790
TS 2 1 191, 570, 000
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